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1 : MsTimer2 2f0|E2{2| Cl2EC

< 20| X| http://playground.arduino.cc/Main/MsTimer2 0

« Of2}Z Source code -> MsTimer2.zip I} €8 2 CIREE
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BUY SOFTWARE PRODUCTS LEARNING FORUM SUPPORT BLOG

MsTimer2::set(unsigned long ms, void (*f)())

Electronics Technique

Sources for Electronic Parts this function sets a time on ms for the overflow. Each overflow, "f" will be called. "f" has to
Related Hardware and be declared void with no parameters.
Initiatives

MsTimer2::start()
Arduino People/Groups & Sites

Exhibition enables the interrupt.

Project Ideas

MsTimer2::stop()

Languages . .
. disables the interrupt.

Participate

- Formatting guidelines

- All recent changes Source Code

- PmWiki
- WikiSandBox training
- Basic Editing License: LGPL

- Documentation index
MsTimer2.zip

Install it on {arduino-path}/libraries/


http://playground.arduino.cc/Main/MsTimer2

3.1 TimerLED CG{|A| & djj

Device MegaADK LED MODULE
PIN NO 14 RED 1
PIN NO 15 RED 2
PIN NO 16 RED 3
PIN NO 17 RED 4
PIN NO 18 RED 5
PIN NO 19 RED 6
PIN NO 20 RED 7
PIN NO 21 RED §|

PIN NO 0 GREED 9
PIN NO 1 GREED 10
PIN NO 2 GREED 11
PIN NO 3 GREED 12
PIN NO 4 GREED 13
PIN NO 5 GREED 14
PIN NO b GREED 15
PIN NO 7 GREED 16




3.2 TimerLED of A

#include <MsTimer2.h> //EfO|0H ZH zlolE2{g| MA

int Ledpin[16] = {14,15,16,17,18,19,20,21,0,1,2,3,4,5,6,7}; // & HiEZ H9]
int Counter = 0; //7h2E 2tH B {0
void setup(){

// PinMode()gt~E& Sdfl LED2} AZE TS =822 49

for(inti = 0; i<16 ; i++)

{

pinMode(Ledpin[i], OUTPUT);

}

MsTimer2::set(500, ledcontrol); // E}O|H QIHZHE M™, 500msF7|

MsTimer2:start(); // EfO|H A|&f



3.2 TimerLED of|&| (A=)

J/EFO|T QIE|ZE AH|A ZEl
void ledcontrol(){
static boolean output = HIGH; // B4 X7|3}
// digitalWrite() gf== LED ot HAAE & B gf =5
digitalWrite(Ledpin[Counter],output);
Counter++; //7}2H B 4F 7}

//7h2&H 20| 15 ECt 3 H 7I2H 242 0 22 X7|3} 2 output HF 2™
if(Counter>15)
{

Counter = O;
output = loutput;

}

void loop(){
}
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1. attachlnterrupt()
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1.

attachinterrupt() (Al

attachinterrupt()2| 37(2| @IX}
A HEK| X} Interrupt number
T HWY QIX}: QIE{YE AH|A ZE
M HR 21X} : mode

= LOW - 0| LOWY [} QIE{2E HrAk

CHANGE - 9| 70| HZAE! [ OIF

—

L

HE

RISING - 0| LOWO|A HIGHE WZE @
FALLING - TO| HIGHO|A| LOWZ HZ &l
HIGH - o| HIGH 2 [ OIE{2E &M (Arduino Due
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1. attachinterrupt() (AHZ)

int pin = 13; // & $= H=0| X£7[3}
Volatile int state = LOW; // state

Void setup(){
pinMode(pin, OUTPUT); // 13 =l

H=0| LOW=Z 27|}

szozm MHA

attachInterrupt(0, blink, CHANGE); // EEI'q:'— OIEHE MHA

}
Void loop(){

digitalWrite(pin, state); digitalWritegt~=Z 13 T 0f state ==

}
Void blink(){

state = Istate; // stateE HIHS|IO] statedf HE

detachlnterrupt()
A EE QIHEES S M Stht. At
interrupts()
HH QHEEZ 2ol A7|= =
2 7|20z #A3E 0 YUC
nolnterrupts()
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1.1 InterruptControl Of|Ad & dfd

Keypad 2E1} LED 252 O|8510] HE Q2 QIEHEZ X2[6t0| LEDS H oot =
2=

LED Il =&

Device MegaADK LED MODULE PIN NO 30 GREED 9
PIN NO 22 RED 1 PIN NO 31 GREED 10
PIN NO 23 RED 2 PIN NO 32 GREED 11
PIN NO 24 RED 3

PIN NO 33 GREED 12
PIN NO 25 RED 4

PIN NO 34 GREED 13
PIN NO 26 RED 5
- - — PIN NO 35 GREED 14
PIN NO 28 RED 7 PIN NO 36 GREED 15
PIN NO 29 RED 8 PIN NO 37 GREED 16

Keypad & 2 &

Device MegaADK Keypad MODULE
PIN NO 2 BT1 PB1
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1.3 InterruptControl Of A




1.4 InterruptControl Of A

#include <MsTimer2.h> //E}O|H ZtH 2jo|E2{2| M
//LEDQ} AZ =l Il Hjg = H9
int ledpin[16] = {22,23,24,25,26,27,28,29,14,15,16,17,18,19,20,21};

u

volatile int counter = 0; //QIE{ZE ZtH H=x M
volatile byte state = HIGH; //QIE{EE 2t& H

I
I

void setup(){
Serial.begin(9600);
// LED2} HAE HE 2oz 473
for(inti = 0; i<16; i++)
pinMode(ledpinl[i], OUTPUT);

// AR CIHEE 23

// AR CIHEE OHZ C|X[E 23 TN T
attachlnterrupt(0, LedControl, FALLING);
MsTimer2::set(800, Interruptcontrol); // E}O|H A7H



1.4 InterruptControl O (AHZ)

void Interruptcontrol(){
attachlnterrupt(0,LedControl, FALLING); //2| 82 QIEHEE A
MsTimer2:stop(); //EtO|H HX]|

}

void LedControl(){
counter++; //7}28 H¢ St
MsTimer2:start(); //EFO|H 7|2 E Al
detachInterrupt(0); //2|E9IHHE O FX]
Serial.printIn(counter);

// 7t2H 20| 15ECt 3™ 72 H HsF 022 x7|3t 5t
// state H=F HI7
Al ZICE.
if(counter>15){
counter = O;

state = Istate;



1.4 InterruptControl O (AHZ)

void loop(){
digitalWrite(ledpin[counter], state); //digitalWrite()&ts=Z LED H| 0
delay(200); //X| ¥ 200ms

20



1.5 InterruptControl Of A
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